
		  Mounting instructions

MZI 594

14
0

16
6

2-
0

1
14

0
16

6
2-

0
1-

A-
0

1

*1
40
16
62
-0
1*

Encoder model



2

T +46-(0)152-265 00 
F +46-(0)152-265 05

info@leinelinde.se 
www.leinelinde.se

BRASIL 
T +55-(19)-3708-8280 info@leinelinde.com.br 

www.leinelinde.com.br

中国 中国 
T +86-(021)-52 58 35 66 
F +86-(021)-52 58 35 99

info@leinelinde.cn 
www.leinelinde.cn

DANMARK 
T +45-862-308 34 info@leinelinde.dk 

www.leinelinde.dk

DEUTSCHLAND 
T +49-(0)40-317 675 8-60 
F +49-(0)40-317 675 8-65

info@leinelinde.de 
www.leinelinde.de

ESPAÑA 
T +34-93-574 23 02 
F +34-93-560 57 60

info@leinelinde-ltn.es 
www.leinelinde.es

INDIA 
T +91-11-2617-2504 
F +91-11-4058-2516

info@leinelinde.in 
www.leinelinde.in

ITALIA 
T +39-039-596 01 08 
F +39-039-971 22 08

info@leinelinde-ltn.it 
www.leinelinde.it

대한민국 대한민국 
T +82-(0)51-746 5420 
F +82-(0)51-746 5421

info@leinelinde.co.kr 
www.leinelinde.co.kr

SUOMI 
T +358-(0)9-561 72 00 
F +358-(0)9-561 72 020

info@leinelinde.fi 
www.leinelinde.fi

SWEDEN / SVERIGE (Head office) 
Västerportsvägen 20, SE-645 42 Strängnäs

Contact



3

Leine Linde is a Swedish company dedicated to 
development, manufacturing and sales of encod-
ers, sensors, and system electronics, for demanding 
industrial applications all over the world. Some of 
the additional values offered by Leine Linde are 
our technical support and the possibility to supply 
products with express production service shipped 
within 24 hours.

On our website www.leinelinde.com you can find
data sheets and other product information



4

Leine & Linde AB claims copyright on this 
documentation. It is not allowed to modify, extend 
or to hand over to a third party and/or copy this 
documentation without written approval from 
Leine & Linde AB.

Specifications and content in this document are 
subject to change without prior notice due to our 
continuous strive to improve functionality and per-
formance of our products.



5

Contents

1.	 Risk of bodily injury___________________________7
2.	 Risk of damage to the product_________________8
3.	 Parts of the product_________________________ 10
4.	 Mechanical mounting_______________________ 12
5.	 Electrical mounting_ ________________________ 18
6.	 Certificates and approvals___________________ 20



6

MZI 594The following models are covered by this mounting 
instruction:

Please observe that the illustrations may differ from 
the actual product, with regard to model, materials 
and colours, type of connections, etc.



7

Important before mounting begins:
1.1	 Make sure the machine is at a standstill. The 

product is to be mounted on a rotating part that 
can cause bodily injury when in motion.

1.2	 Switch off the power. Do not engage or disengage 
any encoder connections with live wires.

1 

Risk of bodily 
injury

ONOFF

1.1)

1.2)



8

2

Risk of damage 
to the product

ESD

V

2.1)

2.2) 2.3)

2.4) 2.5)

2.6) 2.7)



9

The product is a precision measuring instrument. 
It should be handled with care. Mounting and com-
missioning is to be conducted by qualified personnel 
and in compliance with local safety regulations. The 
warnings below apply in the event of effects outside 
the limit values stated in the product’s data sheet.

The product may be damaged
2.1	 by ESD discharges if the electronics are touched 
2.2	 if it is exposed to high mechanical forces 
2.3	 by moisture or chemical fluids
2.4	 if it is exposed to extreme temperatures
2.5	 if it is exposed to powerful vibrations or shock
2.6	 by short-circuits or an excessively high supply 

voltage
2.7	 by impacts or knocks or other physical damage

The product may not be modified in any way.



10

3 

Parts of the 
product

3.9)

3.6)

3.7)

3.8a)

3.4)

3.5)

3.3)

3.2)

3.1)

3.8b)



11

3.1	 9 mm wrench grip
3.2	 Cable gland
3.3	 Protective cap
3.4	 Fixing holes Ø4,5 mm x3
3.5	 Flange
3.6	 Tapered shaft 9,25 mm (1:10)
3.7	 Alignment flange
3.8a	 O-ring Ø49 mm x 1,5 mm
3.8b	 O-ring Ø16 mm x 1 mm
3.9	 Socket head ccp screw M4 x 40 mm  
	 DIN EN ISO 4762-A2



12

4 

Mechanical 
mounting

B

B

1 2 3 4 5 6 7 8 9 10 11 12

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

9 10 11 12

G

H

- - --0.3 +0.3

Box 8  S-645 21  Strangnas, Sweden

D

47

30.5

4

2

21.25

13.5 3

3.5 3

15

3

19.5

4

1362047-01
ll_a2 Change No. C122029-01 Text: Part number 

Phase: Serial production

Unless otherwise specified Surface treatment: Scale Format
1:1 A2 Blank part number

General tolerances ISO 2768 -1m MZI interface 
Tolerances as per  ISO 8015

 

 
Surfaces as per

 
ISO 1302

 Mating Dimensions

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited. 
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

  Workpiece edges ISO 13715 Created Released Material: Version Revision Sheet Page

1362069 00 A 03 1
of
1

Asterlund Asterlund

21.09.2021 17.02.2022 Document number

A  = Bearing of mating shaft
1 = Screw plug, width 2mm, tightening torque 2 0.5Nm
2 = Screw ISO 4762 - M4 x 40-A2,
with material bonding anti-rotation lock,
tightening torque 2 0.5Nm.
3 = Screw ISO 4762 - M4 x 10-A2,
with material bonding anti-rotation lock,
 tightening torque 2 0.5Nm
4 = Functional diameter of taper
5 = Chamfer is mandatory at start of thread for
materially bonding anti-rotation lock.
6 = Flange surface; ensure full-surface contact.
7 = Maximum permissible deviation between shaft and
 flange surfaces. 
Compensation of mounting tolerances and thermal expansions.
Dynamic motion permitted over entire range.
8 = M5 back-off thread.

5

6

7

5

Required mating dimensions

1 3

82

B-B

AB

2:1
A

2:1
B+0,5

A

74

67

120  (3x)

50
.8

 H
7 

67

3x M4
 8

3x 120

0.5 x 15

74

4.
5

0.
1

90 ... 120

2

M
4

9.
25

 7.5

4.
5

0.
1

90 ... 120

2 51'45" 0
-0 1'

0.
1

A

0.2 A

0.1 A

0.1 A
 1:10

B

B

1 2 3 4 5 6 7 8 9 10 11 12

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

9 10 11 12

G

H

- - --0.3 +0.3

Box 8  S-645 21  Strangnas, Sweden

D

47

30.5

4

2

21.25

13.5 3

3.5 3

15

3

19.5

4

1362047-01
ll_a2 Change No. C122029-01 Text: Part number 

Phase: Serial production

Unless otherwise specified Surface treatment: Scale Format
1:1 A2 Blank part number

General tolerances ISO 2768 -1m MZI interface 
Tolerances as per  ISO 8015

 

 
Surfaces as per

 
ISO 1302

 Mating Dimensions

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited. 
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

  Workpiece edges ISO 13715 Created Released Material: Version Revision Sheet Page

1362069 00 A 03 1
of
1

Asterlund Asterlund

21.09.2021 17.02.2022 Document number

A  = Bearing of mating shaft
1 = Screw plug, width 2mm, tightening torque 2 0.5Nm
2 = Screw ISO 4762 - M4 x 40-A2,
with material bonding anti-rotation lock,
tightening torque 2 0.5Nm.
3 = Screw ISO 4762 - M4 x 10-A2,
with material bonding anti-rotation lock,
 tightening torque 2 0.5Nm
4 = Functional diameter of taper
5 = Chamfer is mandatory at start of thread for
materially bonding anti-rotation lock.
6 = Flange surface; ensure full-surface contact.
7 = Maximum permissible deviation between shaft and
 flange surfaces. 
Compensation of mounting tolerances and thermal expansions.
Dynamic motion permitted over entire range.
8 = M5 back-off thread.

5

6

7

5

Required mating dimensions

1 3

82

B-B

AB

2:1
A

2:1
B+0,5

A

74

67

120  (3x)

50
.8

 H
7 

67

3x M4
 8

3x 120

0.5 x 15

74

4.
5

0.
1

90 ... 120

2

M
4

9.
25

 7.5

4.
5

0.
1

90 ... 120

2 51'45" 0
-0 1'

0.
1

A

0.2 A

0.1 A

0.1 A
 1:10

4.1)



13

B

B

1 2 3 4 5 6 7 8 9 10 11 12

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

9 10 11 12

G

H

- - --0.3 +0.3

Box 8  S-645 21  Strangnas, Sweden

D

47

30.5

4

2

21.25

13.5 3

3.5 3

15

3

19.5

4

1362047-01
ll_a2 Change No. C122029-01 Text: Part number 

Phase: Serial production

Unless otherwise specified Surface treatment: Scale Format
1:1 A2 Blank part number

General tolerances ISO 2768 -1m MZI interface 
Tolerances as per  ISO 8015

 

 
Surfaces as per

 
ISO 1302

 Mating Dimensions

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited. 
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

  Workpiece edges ISO 13715 Created Released Material: Version Revision Sheet Page

1362069 00 A 03 1
of
1

Asterlund Asterlund

21.09.2021 17.02.2022 Document number

A  = Bearing of mating shaft
1 = Screw plug, width 2mm, tightening torque 2 0.5Nm
2 = Screw ISO 4762 - M4 x 40-A2,
with material bonding anti-rotation lock,
tightening torque 2 0.5Nm.
3 = Screw ISO 4762 - M4 x 10-A2,
with material bonding anti-rotation lock,
 tightening torque 2 0.5Nm
4 = Functional diameter of taper
5 = Chamfer is mandatory at start of thread for
materially bonding anti-rotation lock.
6 = Flange surface; ensure full-surface contact.
7 = Maximum permissible deviation between shaft and
 flange surfaces. 
Compensation of mounting tolerances and thermal expansions.
Dynamic motion permitted over entire range.
8 = M5 back-off thread.

5

6

7

5

Required mating dimensions

1 3

82

B-B

AB

2:1
A

2:1
B+0,5

A

74

67

120  (3x)

50
.8

 H
7 

67

3x M4
 8

3x 120

0.5 x 15

74

4.
5

0.
1

90 ... 120

2

M
4

9.
25

 7.5

4.
5

0.
1

90 ... 120

2 51'45" 0
-0 1'

0.
1

A

0.2 A

0.1 A

0.1 A
 1:10

B

B

1 2 3 4 5 6 7 8 9 10 11 12

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

9 10 11 12

G

H

- - --0.3 +0.3

Box 8  S-645 21  Strangnas, Sweden

D

47

30.5

4

2

21.25

13.5 3

3.5 3

15

3

19.5

4

1362047-01
ll_a2 Change No. C122029-01 Text: Part number 

Phase: Serial production

Unless otherwise specified Surface treatment: Scale Format
1:1 A2 Blank part number

General tolerances ISO 2768 -1m MZI interface 
Tolerances as per  ISO 8015

 

 
Surfaces as per

 
ISO 1302

 Mating Dimensions

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited. 
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

  Workpiece edges ISO 13715 Created Released Material: Version Revision Sheet Page

1362069 00 A 03 1
of
1

Asterlund Asterlund

21.09.2021 17.02.2022 Document number

A  = Bearing of mating shaft
1 = Screw plug, width 2mm, tightening torque 2 0.5Nm
2 = Screw ISO 4762 - M4 x 40-A2,
with material bonding anti-rotation lock,
tightening torque 2 0.5Nm.
3 = Screw ISO 4762 - M4 x 10-A2,
with material bonding anti-rotation lock,
 tightening torque 2 0.5Nm
4 = Functional diameter of taper
5 = Chamfer is mandatory at start of thread for
materially bonding anti-rotation lock.
6 = Flange surface; ensure full-surface contact.
7 = Maximum permissible deviation between shaft and
 flange surfaces. 
Compensation of mounting tolerances and thermal expansions.
Dynamic motion permitted over entire range.
8 = M5 back-off thread.

5

6

7

5

Required mating dimensions

1 3

82

B-B

AB

2:1
A

2:1
B+0,5

A

74

67

120  (3x)

50
.8

 H
7 

67

3x M4
 8

3x 120

0.5 x 15

74

4.
5

0.
1

90 ... 120

2

M
4

9.
25

 7.5

4.
5

0.
1

90 ... 120

2 51'45" 0
-0 1'

0.
1

A

0.2 A

0.1 A

0.1 A
 1:10

Hollow shaft
4.1	 Check that the dimensions, tolerances and 

interface mechanics of the mating shaft match 
the specifications and ensure that the mounting 
surface is free from dirt and debris.

B

B

1 2 3 4 5 6 7 8 9 10 11 12

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

9 10 11 12

G

H

- - --0.3 +0.3

Box 8  S-645 21  Strangnas, Sweden

D

47

30.5

4

2

21.25

13.5 3

3.5 3

15

3

19.5

4

1362047-01
ll_a2 Change No. C122029-01 Text: Part number 

Phase: Serial production

Unless otherwise specified Surface treatment: Scale Format
1:1 A2 Blank part number

General tolerances ISO 2768 -1m MZI interface 
Tolerances as per  ISO 8015

 

 
Surfaces as per

 
ISO 1302

 Mating Dimensions

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited. 
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

  Workpiece edges ISO 13715 Created Released Material: Version Revision Sheet Page

1362069 00 A 03 1
of
1

Asterlund Asterlund

21.09.2021 17.02.2022 Document number

A  = Bearing of mating shaft
1 = Screw plug, width 2mm, tightening torque 2 0.5Nm
2 = Screw ISO 4762 - M4 x 40-A2,
with material bonding anti-rotation lock,
tightening torque 2 0.5Nm.
3 = Screw ISO 4762 - M4 x 10-A2,
with material bonding anti-rotation lock,
 tightening torque 2 0.5Nm
4 = Functional diameter of taper
5 = Chamfer is mandatory at start of thread for
materially bonding anti-rotation lock.
6 = Flange surface; ensure full-surface contact.
7 = Maximum permissible deviation between shaft and
 flange surfaces. 
Compensation of mounting tolerances and thermal expansions.
Dynamic motion permitted over entire range.
8 = M5 back-off thread.

5

6

7

5

Required mating dimensions

1 3

82

B-B

AB

2:1
A

2:1
B+0,5

A

74

67

120  (3x)

50
.8

 H
7 

67

3x M4
 8

3x 120

0.5 x 15

74

4.
5

0.
1

90 ... 120

2

M
4

9.
25

 7.5

4.
5

0.
1

90 ... 120

2 51'45" 0
-0 1'

0.
1

A

0.2 A

0.1 A

0.1 A
 1:10



14

Step 3

2±0.2 Nm

3x M4

Step 2

5 

Mechanical 
mounting

2±0.5 Nm

Step 4

Step 1

M4 x 40



15

Mounting procedure
Step 1:	 Ensure that the o-ring is still in place.
Step 2:	 Use a 9 mm wrench to lock the encoder 

shaft while tightening the M4 x 40 screw. 
Add appropriate bonding anti-rotation lock, 
LOCTITE or similar. Tightening torque: 
2±0.5 Nm. 

Step 3:	 Fasten the encoder flange by using three M4 
screws with appropriate length. Add appro-
priate bonding anti-rotation lock, LOCTITE 
or similar. Tightening torque: 2±0.2 Nm.

Step 4:	 Ensure that the encoder flange is uniformly 
mounted to surface.

Continued on next page.

Part from customer

Accessories from Leine Linde

Tools for mounting



16

5 

Mechanical 
mounting

Step 6

5 Nm

Step 7

Step 5



17

Mounting procedure continued
Step 5:	 Measure the shaft protrusion and ensure 

that it is within tolerances 5±3. The meas-
urement indicates that the shaft is in the 
center of the accepted axial movement. 
For correct mounting, the expected axial 
movement of the application needs to be 
taken into account.

Step 6:	 Ensure that the radial run-out of the shaft is 
less than ±0.1 mm.

Step 7:	 Mount the protective cap.  
Tightening torque: 5 Nm. Recommended 
screwdriver: ISO 2380-2 X 1.6x10

Dismounting procedure
Step 1:	 Remove protective cap
Step 2:	 Remove 3xM4 screws on flange
Step 3:	 Use a 9 mm spanner on tapered shaft and 

unscrew the M4 socket head cap screw.
Step 4:	 Use an M5 screw in the tapered shaft to 

dismount the encoder.



18

6 

Electrical 
mounting

6.2)

6.1)

L < Lmax

> 200 mm > 100 mm > 100 mm

6.4)

6.3)

R    40 mm> R    150 mm>

Static installation

-40°C to +100°C -10°C to +80°C

Flexible installation



19

6.1	 Use a shielded twisted-pair cable. The shielding 
must be connected to the chassis at both ends 
and be earthed at one point.

6.2	 Keep potential sources of disturbance at the rec-
ommended distance from the cable. Make sure 
that the length of the cable does not exceed the 
value specified in the product data sheet.

6.3	 Ensure that the permissible temperature range 
is adhered to dependent on type of installation, 
static or flexible.

6.4	 Treat all wires as live. Any wires not in use must 
be insulated.



20

7.2)

7.1)7

Certificates and 
approvals



21

Leine Linde products conform to several standards
and approvals. Certificates and documentation may 
be provided by your local Leine Linde representative 
upon request. 

7.1	 UL/CSA standards, type approval 
Most Leine Linde products have been type tested 
in accordance with IEC 61010. The product 
box label states if the product conforms to the 
standard. When the product is operated in ac-
cordance with IEC 61010-1, the power must be 
supplied from an isolated secondary circuit with 
current or energy or power limitation as per IEC 
61010-1, IEC 60950-1, or by a class 2 secondary 
circuit as specified in UL 1310.

7.2	 CE marking and Declaration of conformity 
Most Leine Linde products conform to the 
protection requirements of Council Directive 
2014/30/EU related to EMC when applicable.  
The product box label states if the product con-
forms to the standard.



22

Products from Leine Linde are usually components 
in larger systems. These applications require the 
system as a whole to be tested, and do not depend 
on the component specifications only.

Instructions in these mounting instructions apply to 
products from Leine Linde, not for the system as a 
whole. If products are used in a way for which they 
are not intended, this is at the user’s own risk.

Specifications in this document can be changed 
without prior notice.

	        This product is to be disposed of separately.




